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2N
X ZH -
L= B

el

S$ZESH
AASELES
HEE XY

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 At 22l 20,900 7,000 13,900
OSGXl HAMM HE L HE JIZ2MIZ 2K
EANE HEE 100,000 »3H x33| 900
Osdfl AHI=:Il X &g &4 20,000,000 20,000
206 M= Hl 4,000 4,000 0
01 MHZ 4l 4,000 4,000 0
ORMOIMESE EIXM P (NHX,=2FS)
4,000,000& 4,000
Ord=20loiole At 19,200 30,000 A 10,800
= 9,600
Al 9,600
402 2I2H X201 M 19,200 30,000 A 10,800
= 9,600
Al 9,600
02 QIZEH2AIS EZ (01 &) 19,200 30,000 A 10,800
OO0t =2 IloH ol 2 Ared 19,200, 000& 19,200
= 9,600
Al 9,600
OFMCICHRl L& HZAZ 16,000 0 16,000
< 16,000
301 LBEAF 16,000 0 16,000
= 16,000
12 J|EtE 4= 16,000 0 16,000
QOrMelgiX & HEAZ(160F)
16,000, 000& 16,000
< 16,000
S Xl HALAM A el bl (ASF) 45,900 0 45,900
= 22,950
Al 22,950
101 1A dl 28,400 0 28,400
= 14,200
Al 14,200
M4 JI2ZHZEXNSES 28,400 0 28,400
OHIAFM Ol & g o2 (29, 60ig) 28,400
-Jl=s 2,102,540 »2H x6 A 25,231
= 12,616
Al 12,615
-ANRESFIE 80,4803 »2H +x3 483
= 241
Al 242
-AEEE 2 24l & 2,686,000 2,686
= 1,343
Al 1,343
201 L2l 7,000 0 7,000
= 3,500




EX: sH3Es
HM: JoHEsAES
Sl HES XY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 3,500
01 AP 22| d| 7,000 0 7,000
OAESMFH & 254 30,000& 2000t} 2| 6,000
2 3,000
Al 3,000
OHHIY X = 1,000, 0008 1,000
= 500
Al 500
206 M = H| 3,000 0 3,000
2 1,500
Al 1,500
01 X2 Hl 3,000 0 3,000
QWX HAH Hel MZH] 3,000,000 3,000
= 1,500
Al 1,500
301 et M= 7,500 0 7,500
= 3,750
Al 3,750
12 J|EtE2 A3 7,500 0 7,500
OHAM Hel 2a=2 150, 000& 500t 2| 7,500
2 3,750
Al 3,750
SHHAIZ EOE 5,000 5,000 0
201 B9 2,000 2,000 0
03 A2 G HI 2,000 2,000 0
Ogtdnal 24 (253) 2,000,000& 2,000
301 et A =2 3,000 3,000 0
09 HAIAHI XIS 2 3,000 3,000 0
Ogtdnal 29(253) 3,000,000& 3,000
EMAIEH 29 277,779 248,682 29,097
101 e1214| 99,379 53,017 46,362
04 JI2tHIZ22XNSES 99,379 53,017 46,362
OMEIH 2949 99,379
“J|2S(HEAR2E 1Y, EMBHSY 22 3H)
1,822,480& x4H «12& 87,480
-ME=Z 209,0008 x4 x12& 10,032
-AXRssII=Y 77,760) x4H 6L 1,867
201 LBt | 72,400 87,700 A 15,300
01 AP 22| H| 30,200 33,700 A 3,500
OJI2ZtHZ2Z2 X THEA S E-t=
100,000& *3Y 13| 300
OEMAIE JI=Xt24E =44 ¥ 0|2
=4 | 5,200,000& 5,200




SN BALSY
M NHSEES
Sl WS BIEY CEEEED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
OE=2H| 10,000, 000& 10,000
OEMME M IHIZ(HIG, F4I, BIFHI|
) 2,900,000& 2,900
OEMdIE 29 HIEZ & 2238 #¢
3,000,000 3,000
OEMHIE & A b 5,000,000 5,000
OEMHIH A= 2,000,000& 2,000
OEMHIE ROAHAIAE At 22 229
1,800,000& 1,800
02 533294l 42,200 54,000 A 11,800
OEMA Xt & S XIHl(20) 10,000,000& 10,000
O 28 Xt KX 4,000,000& 4,000
O 2322 18,200,000& 18,200
OEMAIEH AIE&EHl Sl 10,000,000& 10,000
202 04 bl 1,000 1,400 AN 400
01 2LHOHI 1,000 1,400 AN 400
OEMAIE =X Y] 1,000,000& 1,000
206 M = Hl 105,000 105,000 0
01 M= bl 105,000 105,000 0
OMEZH & 2NN 2 100,000,000 100,000
OMEEEZ HSME #¢ 5,000,000& 5,000
EMOL2LCHI Ol &< 17,960 17,960 0
201 et A | 16,000 16,000 0
03 A2 H I 16,000 16,000 0
OEmMoL2tdiol 24 (1al) 10,000,000& 10,000
ORS0MS(EM Y ENote sMAN NF(2
Jle13l) 6,000,000 6,000
301 dEtE A = 1,960 1,960 0
09 SHAIAHI X &= 1,960 1,960 0
OEMOFIHCI Ol 2= 2 Xt EMZ 2 At H&H(15])
1,960,000& 1,960
AAgMe AT S22 62,387 43,520 18,867
101 2124 d| 58,787 39,520 19,267
04 JI2ZtH2ZXNEE S 58,787 39,520 19,267
OXNHEMFAX 22 22 58,787
=23 1,822,480 x4 »7& 51,030
-ME=z 209,000 x4H «7& 5,852
PR == Ea 77,7603 x4 x4 1,245
- 2H(22, X7, &2dat, 2K, EAl
165,000& *4H 660
201 et A | 3,300 3,600 A 300




SN BALSY
M NHSBEES
Sl HES XY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 3,300 3,600 A 300
OJIZNZ22X HEAE HEH
100,000& »3H * 13 300
OEEEE M&E & JIEt 23 204
3,000,000& 3,000
206 M= Hl 300 400 A 100
01 M= 4l 300 400 A 100
ONHLMSAX KA 2el =8l 300,000& 300
EFAEQIEN 22 4,000 7,000 A 3,000
= 2,000
Al 2,000
301 LPEAZ 4,000 7,000 A 3,000
= 2,000
Al 2,000
12 JIEtE2 43 4,000 7,000 A 3,000
OEAZQERN QdEE X3
5,000& =800 Al CH 4,000
= 2,000
Al 2,000
Nsx HEAZERN 22 2,000 800 1,200
= 1,000
Al 1,000
301 LPEAZ 2,000 800 1,200
= 1,000
Al 1,000
12 JIEE4 =3 2,000 800 1,200
OXNSI BAEEN MEE X2
25,000& *80CH 2,000
= 1,000
Al 1,000
HIAHREZ MEE 24 0tA JHHALE 6,000 5,000 1,000
= 3,000
Al 3,000
201 24l 1,000 1,000 0
= 500
Al 500
01 At 2t 2l 1,000 1,000 0
OsE=2 HE 1,000,000 1,000
=2 500
Al 500
301 LEEAF 5,000 4,000 1,000
= 2,500
Al 2,500
12JIE243 5,000 4,000 1,000
Ot HHEEHE SBS XA (130 )
5,000,000& 5,000




M BAES
dM: NS ZES
& HEE FFxH (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 2,500
Al 2,500
=282 342018 3 N&E 84,600 60,000 24,600
< 33,840
Al 50,760
308 A EHSOIA 84,600 60,000 24,600
< 33,840
Al 50,760
1137/ 2SoHUHSZHEAEALS I 84,600 60,000 24,600
O=8 s2J/g9 &3d XI& 84,600,000 84,600
< 33,840
Al 50,760
StAH Al -2 2LETT A NI (ELEE 52,000 52,000 0
2zl OlEI 8H)
J| 52,000
207 A& 52,000 52,000 0
J| 52,000
01 2284 52,000 52,000 0
O#Z2Y Sl AHAHE olHEI 24
52,000,000& 52,000
J| 52,000
S Al -2 2EEE e MBI (EEE 5,900 5,250 650
ZH OHE, A2 ZLHY 89)
J| 5,900
207 A RO H| 5,900 5,250 650
J| 5,900
01 289 5,900 5,250 650
O=x=Z2g83EN =2 Z2LHEY 89
5,900,000& 5,900
J| 5,900
MESIE =R RA22 37,500 40,700 A 3,200
201 L2l 37,000 35,000 2,000
01 At 2t 2l 37,000 35,000 2,000
OMEIGHAE F2t S (Harzel S)
36,000,000& 36,000
OdEistd 728 RA2e 224 =35 7¢
1,000,000 1,000
202 O4dl 500 700 A 200
01 =S LHAYI 500 700 A 200
OMEHSIE =J ALY AL=2tel =& ol
500,000& 500
NHESHES NE 2 5,000 5,000 0
307 21201 A 5,000 5,000 0
02 IZtE S AHE L 5,000 5,000 0
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2AN: A8 3
N2 EHAHES
CHel: MEfAH E OrMAIZ E X )
- _ _ RE]
CEB - HS(3H) - HBAY - B Ol &F o4 %@i 2t
= 9,600
Al 20,050
AMENH Wt OFMAlS E X 29,650 24,578 5,072
= 9,600
Al 20,050
MEHAH Dt OFMAIZ E X 5,650 4,300 1,350
201 Bt 2,300 2,300 0
01 AP 22| H| 300 300 0
OME N H et OFMAIS MAHAEY JI2HH 22X
HEANE HESE 100,000& *3Y * 13| 300
02 E2=2=24%H| 2,000 2,000 0
OME N H Dt OFMAISEXIAISY A& &H KX H|
2,000,000& 2,000
206 M Hl 2,000 2,000 0
01 X2 Hl 2,000 2,000 0
OME N H e OrMAIS & Xl MZH|
2,000,000& 2,000
405 XHoHF S HI 1,350 0 1,350
01 AL 2 FF S| 1,350 0 1,350
OMEfH D2t OFMAISE XIALS Al ZH| (0=
J1) ¢ 450,000 *3CH 1,350
MEFH L2 OFMAIS E XA (Z=HI) 24,000 20,278 3,722
= 9,600
Al 14,400
101 e1214| 24,000 20,278 3,722
= 9,600
Al 14,400
04 J|12ZtHIZ22NEES 24,000 20,278 3,722
OMEFH WS OFMAIS HMAHEY 82 (2H, 5
) 24,000
-J23 2,077,460 x2H x52 20,775
& 8,310
Al 12,465
AR sEIISY 79,520) x2H «3 478
& 191
Al 287
A8 a2 2 29H| 2,747,000 2,747
& 1,099
Al 1,648
Holeyg el 7,724,342 6,141,239 1,583, 103
=2 4,375,924
& 599,179
Al 2,749,239
oy =% 62,800 76,000 A 13,200
== 9,000




EX: sH3Es
Hz: (o129 22
2 oy =3 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 53,800
o1 =& 2e 32,800 31,000 1,800
201 B9 32,800 31,000 1,800
01 AP 22| H| 600 15,000 A 14,400
OD0IMIEHX BisS& EAFH JI2ZHMZ2Z2X HEAE
HE G 100,000& x3H *23| 600
02 2224 H| 32,200 16,000 16,200
OL2FR SHME SHEAAL(LEZ) 22
(M2 ,8482) 13,200,000& 13,200
Ol gdE 2dH|(MI|2 , 882, A=
gl £) 8,000,000 8,000
OSA=FJTHIEET ZAH L K22
2,000,000& 2,000
Ol xg SXNHI(KNE X Y A=XE)
9,000,000& 9,000
oleg =32 S22 30,000 30,000 0
= 9,000
Al 21,000
201 gEt2A | 30,000 30,000 0
= 9,000
Al 21,000
02 =224 H| 30,000 30,000 0
Ol =83 X2l (1HA)
30,000,000 30,000
= 9,000
Al 21,000
CHOI&E &AL 7,661,542 6,065,239 1,596,303
= 4,375,924
= 590,179
Al 2,695,439
SHARA BHSOIA H2Z ALY 2,484,000 1,817,556 666,444
= 1,383,200
o= 49,680
Al 1,051,120
402 SI2FXHE0| ™ 2,484,000 1,817,556 666,444
= 1,383,200
o= 49,680
Al 1,051,120
02 QIZEXIEANISE X (0| XM THL) 2,484,000 1,817,556 666,444
O28 Xt M=0H3H AP (1,088CH)
2,484 ,000,000& 2,484,000
= 1,383,200
= 49,680
Al 1,051,120
MAIJAXS P2UH EX 24,000 0 24,000
= 12,000
Al 12,000




SM: B

B O

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
402 SI2FXHE0| & 24,000 0 24,000
= 12,000
Al 12,000
02 CIZEXIEAIS EX (0| XM THL) 24,000 0 24,000
OHSNANIST 2l X2
12,000,000 =2CH 24,000
= 12,000
Al 12,000
HAINAXS HA2H BEXx2 28,140 68,400 N 40,260
= 14,070
Al 14,070
307 2iz2to| & 28,140 68,400 N 40,260
= 14,070
Al 14,070
02 QIZ2IA AAIE E X 28,140 68,400 N40,260
OHCINATSK H2Hl X2 (160H)
28,140,000 28,140
2 14,070
Al 14,070
MO XS X 20 K& 2,004,000 1,325,000 679,000
= 1,301,000
Al 703,000
402 DIZHRFEO0I A 2,004,000 1,325,000 679,000
2 1,301,000
Al 703,000
02 CIZEXIEANISE X (0| XM THL) 2,004,000 1,325,000 679,000
OH&II XS X P04 X (101CH)
2,004,000,000& 2,004,000
= 1,301,000
Al 703,000
NHE N=ARYR 2IAY 23,000 708,500 685,500
2 13,800
Al 9,200
402 BI2H X 20| M 23,000 708,500 A 685,500
= 13,800
Al 9,200
02 CIZEXIEAISE X (0| XM THL) 23,000 708,500 A 685,500
OEE A=ABUH B3 ALS (1050H)
23,000,000 23,000
= 13,800
Al 9,200
B=0|12t AREX s K 22 19,000 16,461 2,539
= 9,500
o= 950
Al 8,550
307 212t0| ™ 19,000 16,461 2,539
= 9,500




SN BAESD
Hz: (o129 22
S UHIIE HEAY (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 950
Al 8,550
02 QIZ2IA AAIE E X 19,000 16,461 2,539
OBZJ|I2t AWEX HAsKX 2el(2530)
19,000,000 19,000
= 9,500
& 950
Al 8,550
XIHX BEX2 X2 €2 HHAY 8,000 4,240 3,760
307 2iz2to| & 8,000 4,240 3,760
05 QIZ2tR E 2 8,000 4,240 3,760
OXJIHA BEX2 N2 €2 ey
10,000 *800CH 8,000
SMAHTIN PHSHAE 480 0 480
= 240
Al 240
301 et A= 480 0 480
= 240
Al 240
12 JIEtE2 &= 480 0 480
O&dHEII 2H20H XN (1Y) 480,000 480
= 240
Al 240
Sd0IE Ml ¥ g XN 123,220 108, 240 14,980
= 59,030
& 11,321
Al 52,869
403 XX SHHS K20 & 123,220 108, 240 14,980
= 59,030
& 11,321
Al 52,869
02 2| 2S0 e A=2EAEAS Y 123,220 108, 240 14,980
OZ=dI0lE ™Meal & e X2 (34s)
123,220,000 123,220
= 59,030
& 11,321
Al 52,869
AUWZBIIE 58 ¢ &8 XN 9,000 4,200 4,800
& 4,500
Al 4,500
201 gEt24Hy| 9,000 4,200 4,800
& 4,500
Al 4,500
01 AP 2t 2] d| 9,000 4,200 4,800
OA&s AUBII& A AL
100, 000 x90JH A 9,000




SM: B

B O

CHE - EI(BA) - NRAY - BYS

=
i

2

= H

4,500
4,500

A2 SAAMEE SXAE X2

= M W

,070,000
, 150,000

460,000
460,000

1,800,000

270,000

403 TR SHHSA=01H
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